
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

STATISTICS

Others

1. From the data given below state which group is more

variable 
 Marks
 10-20
 20-30
 30-40
 40-50
 50-60

60-70
70-80
Group 
9
17
32
33
40
10
9
Group 
10
20
30

25
43
15
7

Watch Video Solution

G1 or G2 ?

G1 G2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_P1gXhaV2q86B


2. From the prices of shares X and Y given below: find out

which is more
stable value:
X:
35
54
52
53
56
58
52
50
50
49

Y:
108
107
105
105
106
107
104
103
104
101

Watch Video Solution

3. The following are some particulars of the distribution of

weights of
boys and girls in a class:
 
Boys
Girls
Number 100

50
Mean
60kg
45kg
Variance
9
4
Which of the distributions

is more variable?

Watch Video Solution

https://dl.doubtnut.com/l/_VaBrj9cxmqZt
https://dl.doubtnut.com/l/_QEES99RAN8im


4. For a frequency distribution mean deviation from mean in

computed by: (a) = 
 (b) 
 (c) 


(d) 

Watch Video Solution

M
.
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∑ f|d|
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5. Calculate mean deviation about mean from the following

data:
 
3
9
17
23
27
 
8
10
12
9
5

Watch Video Solution

xi : fi :

6. Calculate the mean deviation about median age for the

age
distribution of 100 persons given below:
Age      16-20    

21-25      
 26-30         31-35       36-40          
 41-45       46-50       51-55

https://dl.doubtnut.com/l/_QD5UpH508Mwj
https://dl.doubtnut.com/l/_ipKYCl7ogS60
https://dl.doubtnut.com/l/_MJpoUgNI2k4m


Number   5             6           12         14          26          12         

16         9

Watch Video Solution

7. Calculate mean deviation from the median of the

following data:
 Class interval:
 0-6
 6-12
 12-18
 18-24
 24-30

Frequency
4
5
3
6
2

Watch Video Solution

8. Find the mean deviation about the mean for the following

data:
 Marks obtained 10-20
 20-30
 30-40
 40-50
 50-60
 60-70

70-80
Number of students
2
3
8
14
8
3
2

Watch Video Solution

https://dl.doubtnut.com/l/_MJpoUgNI2k4m
https://dl.doubtnut.com/l/_KaZ4hPlz8OrN
https://dl.doubtnut.com/l/_IFvZ8NdTq6Ik


9. The age distribution of 100 life-insurance policy holders is

as follows:
 Age (on nearest birthday)
 17-19.5
 20-25.5
 26-35.5

36-40.5
41-50.5
51-55.5
56-60.5
61-70.5   No. of persons
5
16
12

26
14
12
6
5
Calculate the mean deviation from median age.

Watch Video Solution

10. Calculate the median deviation from the median of the

following data:
Wages per
week (in Rs.), 10-20, 20-30, 30-40,

40-50, 50-60, 60-70, 70-80
No. of
workers, 4, 6, 10, 20, 10, 6, 4

Watch Video Solution

https://dl.doubtnut.com/l/_IFvZ8NdTq6Ik
https://dl.doubtnut.com/l/_U57NwhwY3Lfz
https://dl.doubtnut.com/l/_qymV6leRXkik


11. Find the mean deviation from the mean of the following

data:
Classes:, 10-20,
 20-30, 30-40, 40-50, 50-60, 60-70, 70-80

frequency, 2,
3, 8, 14, 8, 3, 2

Watch Video Solution

12. Find the mean deviation from the median for the

following data:
Size:, 10, 11,
12, 14, 15
Frequency:, 2,
3, 8, 3, 4

Watch Video Solution

13. Find the mean deviation about the median of the

following frequency distribution:
Class:, 0-6, 6-12,
 12-18, 18-24,

24-30
Frequency:, 8,
10, 12, 9, 5

W h Vid S l i

https://dl.doubtnut.com/l/_qdi4PHujlRpf
https://dl.doubtnut.com/l/_6EN4Cbzi7sio
https://dl.doubtnut.com/l/_zi2tIXgMNlVW


Watch Video Solution

14. Find the mean deviation from the mean for the following

data:
Size:, 20, 21,
22, 23, 24
frequency, 6,
4, 5, 1, 4

Watch Video Solution

15. Find the mean deviation from the mean for the following

data:
Size:
1
3
5
7
9
11
13
15
Frequency:
3
3
4
14
7
4
3
4

Watch Video Solution

16. The following table gives the number of finished articles

turned out
 per day be different number of workers in a

factors. Find the standard
 deviation of the daily output of

https://dl.doubtnut.com/l/_zi2tIXgMNlVW
https://dl.doubtnut.com/l/_lnahN0xIOvPs
https://dl.doubtnut.com/l/_pfYvcc5ax1vb
https://dl.doubtnut.com/l/_j5EKRV5JeCUj


finished articles.
Find the variance and standard deviation of

the following frequency
 distribution:
 Number of
 article:, 18,

19, 20, 21, 22, 23, 24, 25, 26, 27
No. of
workers:, 3, 7, 11, 14, 18, 17,

13, 8, 5, 4

Watch Video Solution

17. If a is positive integer and the frequency distribution:
 
,

A, 2a, 3a, 4a,
 5a, 6a
 
 , 2, 1, 1, 1,
 1, 1 and variance is 160 then

find the value of a.

Watch Video Solution

x :

f :

18. There are 60 students in a class. The following is the

frequency
distribution of marks obtained by the students in

https://dl.doubtnut.com/l/_j5EKRV5JeCUj
https://dl.doubtnut.com/l/_HPHfvJUbQuVG
https://dl.doubtnut.com/l/_7CaruvglaZLJ


a test:
Marks:
0
1
2
3
4
5
Frequency 
 ,
 
 ,
 
 ,
 
 ,



,
 
`Determine the mean and standard deviation.

Watch Video Solution

x − 2 x x2 (x + 1)2

2x x + 1

19. Find the mean, and standard deviation for the following

data:
 (i)
 Year render:
 10
 20
 30
 40
 50
 60
 No. of
 persons

(cumulative):
15
32
51
78
97
109

Watch Video Solution

20. Find the mean and standard deviation of first n terms of

an A.P. whose
first term is a and common difference is d.

Watch Video Solution

https://dl.doubtnut.com/l/_7CaruvglaZLJ
https://dl.doubtnut.com/l/_D8RdVvcJy95V
https://dl.doubtnut.com/l/_ahH6SUSpqOqR
https://dl.doubtnut.com/l/_6p1wM04Veslh


21. Find the mean of the following frequency
 distribution:

Variable 
 , 2, 4, 6, 8,
 10, 12, 14, 16
Frequency 
 , 4, 4, 5,

15,
8, 5, 4, 5

Watch Video Solution

(xi) (fi)

22. Calculate the variance and standard deviation from the

data given
 below:
 Size of item,
 3.5, 4.5, 5.5, 6.5, 7.5, 8.5, 9.5

Frequency , 3,
7, 22, 60, 85, 32, 8

Watch Video Solution

23. Find the variance and standard deviation for the

following
distribution:
X:, 4.5, 14.5,
 24.5, 34.5, 44.5, 54.5, 64.5


, 1, 5, 12, 22,
17, 9, 4f :

https://dl.doubtnut.com/l/_6p1wM04Veslh
https://dl.doubtnut.com/l/_XU8L3c1eTVfT
https://dl.doubtnut.com/l/_DF1au93FcAaj


Watch Video Solution

24. Find the standard deviation for the following data:
(i)


, 3, 8, 13, 18,
23
 
, 7, 10, 15, 10,
6

Watch Video Solution

x :

f :

25. Calculate the mean and standard deviation for the

following
distribution:
Marks:, 20-30,
 30-40, 40-50, 50-60, 60-

70, 70-80, 80-90
No. of
students:, 3, 6, 13, 15, 14, 5, 4

Watch Video Solution

https://dl.doubtnut.com/l/_DF1au93FcAaj
https://dl.doubtnut.com/l/_LLR8rBkzFqnJ
https://dl.doubtnut.com/l/_lY4YuYKrZDk0


26. Let 
be 
 observations. Let  for

i=1,2,...,n where a and b are constants. If the mean of 
 is

48 and their standard deviation is 12, the mean of  is 55

and standard deviation of  is 15, the values of a and b

are (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

x1, x2, , xn xn yi = axi + b

xi' s

yi' s

yi' s

a = 1. 25, b = − 5 a = − 1. 25, b = 5

a = 2. 5, b = − 5 a = 2. 5, b = 5

27. For a frequency distribution standard deviation is

computed by applying
 the formula (a)


 (b) 


 (c) 

(d) 

σ = √ − ( )
2∑ fd2

∑ f

∑ fd

∑ f

σ = √( )
2

−
∑ fd

∑ f

∑ fd2

∑ f
σ = √ −

∑ fd2

∑ f

∑ fd

∑ f

σ = √( )
2

−
∑ fd

∑ f

∑ fd2

∑ f

https://dl.doubtnut.com/l/_8xP9s6hue3BT
https://dl.doubtnut.com/l/_JdnromzbV01T


Watch Video Solution

28. The mean of 100 numbers observations is 50 and their

standards
 deviation is 5. The sum of all squares of all the

observations is
(a)50,000 (b) 250,000 (c) 252500 (d) 255000

Watch Video Solution

29. If  and 
 then the

coefficient of variation is
(a) 36% (b) 41% (c) 25% (d) none of

these

Watch Video Solution

n = 10,X = 12 ∑x2
i = 1530,

https://dl.doubtnut.com/l/_JdnromzbV01T
https://dl.doubtnut.com/l/_C6WqFK3aIlQy
https://dl.doubtnut.com/l/_c5QR6DxYGkqt


30. Life of bulbs produced by two factories A and B are given

below:
 Length of
 life (in hours):
 550-650
 650-750
 750-850

850-950
950-1050
Factory A:
 (Number of bulbs)
 10
 22
 52
 20

16
Factory
B(Number of bulbs)
8
60
24
16
12

Watch Video Solution

31. If the standard deviation of a variable 
 , then

standard deviation of variable 
 is
 (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

X is σ

aX + b

c
aσ σ

a

c

∣
∣

∣
∣σ

a

c

aσ + b

c

https://dl.doubtnut.com/l/_QgOvzR5QhJpc
https://dl.doubtnut.com/l/_ikKWcCWhNCyN


32. Following are the marks obtained, out of 100, by two

students Ravi and
Hashina in 10 life?
Ravi:
25
50
45
30
70
42

36
48
35
60
Hashina:
10
70
50
20
95
55
42
60
48
80
 .Who is

more intelligent and who is more consistent?

Watch Video Solution

33. Let a, b, c, d, e, be the observations with m and standard

deviation s.
 The standard deviation of the observations a+k,

b+k, c+k, d+k, e+k is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

s ks s + k
s

k

https://dl.doubtnut.com/l/_w54UX5XzlNqF
https://dl.doubtnut.com/l/_0EUMlrvtzHEt


34. The lengths (in cm) of 10 rods in a shop are given below:

40.0,52.3,55.2,72.9,52.8,79.0,32.5,15.2,27.9,30.2
 Find mean

deviation from median
 (ii) find mean deviation from the

mean also.

Watch Video Solution

35. If the S.D. of a set of observations is 8 and if each

observation is
 divided by -2, the S.D. of the new set of

observations will be
(a) -4             (b) -8              (c) 8          (d)

4

Watch Video Solution

https://dl.doubtnut.com/l/_JJRmMATWIF03
https://dl.doubtnut.com/l/_TwiQOsc8kOpd


36. The standard deviation of the observations 6,5,9,13,12,8,10

is
 
(b) 
(c) 
(d) 

Watch Video Solution

6 √6
52

7
√

52

7

37. The standard deviation of first 10 natural numbers is (a)

8.25  (b) 6.5  (c) 3.87 (d) 2.87

Watch Video Solution

38. The mean deviation of the data 3,10,10,4,7,10,5 (a) 2  (b)

2.57(c)3 (d) 3.57

Watch Video Solution

https://dl.doubtnut.com/l/_kQI8fh1RzRLe
https://dl.doubtnut.com/l/_pEGT6kxcygfo
https://dl.doubtnut.com/l/_85o9rnNmYBCV
https://dl.doubtnut.com/l/_ycgN6bh5yuDf


39. The mean deviation from e median is
 (a) equal to that

measured from another value
 (b) maximum if all

observations are positive
 (c) greater than that measured

from any other value.
 (d) less than that measured form any

other value.

Watch Video Solution

40. The weight of coffee in 70 jars is shown in the following

table:
 Weight (in grams):
 
 



 204-205
 205-206
 
 13
 27
 18
 10
 1
 1

Determine the variance and
standard deviation of the above

distribution.

Watch Video Solution

200 − 201 201 − 202 202 − 203

203 − 204 Frequency

https://dl.doubtnut.com/l/_ycgN6bh5yuDf
https://dl.doubtnut.com/l/_lHMR4he37yR4
https://dl.doubtnut.com/l/_TbnPQOAads42


41. Find the mean and variance of frequency distribution

given below:
 
 
 



 
6
4
5
1

Watch Video Solution

xi : 1 ≤ x < 3 3 ≤ x < 5 5 ≤ x < 7

7 ≤ x < 10 fi :

42. While calculating eh mean and variance of 10 readings, a

student
 wrongly used the reading of 52 for the correct

reading 25. He obtained the
mean and variance as 45 and 16

respectively. Find the correct mean and the
variance.

Watch Video Solution

43. Mean   and standard deviation of 100 observations were

found
 to be 40 and 10 respectively. If at the time of

https://dl.doubtnut.com/l/_TbnPQOAads42
https://dl.doubtnut.com/l/_igiq5EOBbgCT
https://dl.doubtnut.com/l/_uUqmoOhCPZWl


calculation two observations
 were wrongly taken as 30 and

70 in place of 3 and 27 respectively. Find the
 correct

standard deviation.

Watch Video Solution

44. Calculate the mean and standard deviation for the

following data:
Wages upto (into Rs.)
15
30
45
60
75
 90
 105

120
No. of workers
12
30
65
107
157
202
222
230

Watch Video Solution

45. The following table gives the distribution of income of

100 families in
 a village. Calculate the standard deviation:

https://dl.doubtnut.com/l/_uUqmoOhCPZWl
https://dl.doubtnut.com/l/_WoCD9SsKNJFN
https://dl.doubtnut.com/l/_RBKi6mYiwqtc


Income Rs.
 0-1000
 1000-2000
 2000-3000
 3000-4000
 4000-

5000
5000-6000
No. of Families
18
26
30
12
10
4

Watch Video Solution

46. Calculate the mean and standard deviation for the

following table given
 the age distribution of a group of

people:
Age:
20-30
30-40
40-50
50-60
60-70
 70-80
80-90
 No.

of persons:
3
51
122
141
130
51
2

Watch Video Solution

47. The measurements of the diameters (in mm) of the

heads of 107 screws
are given below:
Diameter (in mm)
33-35

https://dl.doubtnut.com/l/_RBKi6mYiwqtc
https://dl.doubtnut.com/l/_3h1npbfCINzA
https://dl.doubtnut.com/l/_MNaxAHer6KJg


36-38
39-41
42-44
45-47
No. of screws
10
19
23
21
27. calculate

mean diameter of head of screw.

Watch Video Solution

48. The mean deviation of the numbers 3, 4, 5, 6, 7 from the

mean is
(a) 25 (b) 5 (c) 1.2 (d) 0

Watch Video Solution

49. A batsman scores run in 10 innings as

38,70,48,34,42,55,63,46,54 and
44. The mean deviation about

mean is
(a) 8.6                 (b) 6.4                
(c) 10.6            (d) 7.6

Watch Video Solution

https://dl.doubtnut.com/l/_MNaxAHer6KJg
https://dl.doubtnut.com/l/_cVdLIzO6LhLj
https://dl.doubtnut.com/l/_5SM6UnvvRy9R
https://dl.doubtnut.com/l/_EEXZb3eqDfz6


50. The mean deviation of the series


 from its mean is
 (a)


(b) 
(c) 
(d) 

Watch Video Solution

a, a + d, a + 2d, .... . , a + 2n

(n + 1)d

2n + 1
nd

2n + 1

n(n + 1)d

2n + 1

(2n + 1)d

n(n + 1)

51. The following the record of goals scored by team a
 in

football session.
 Number of goals scored:
0
1
2
3
 4
 Number

of matches:
1
9
7
5
3
For the team B, mean number of goals

scored per match was 2 with a standard deviation 1.25 goals.

Find which team may
be considered more consistent?

Watch Video Solution

https://dl.doubtnut.com/l/_EEXZb3eqDfz6
https://dl.doubtnut.com/l/_SJPXwMWNruO0


52. An analysis of monthly wages paid to the works of two

firms A and B
 belonging to the same industry gives the

following results:
   
 Firm A
 Firm B
 Number   of
 workers
 1000

1200
 Average monthly wages
 Rs. 2800
 Rs. 2800
 Variance of

distribution of wages
 100
169
 In which firm, A or B is there

greater variability in individual wages?

Watch Video Solution

53. Let 
be values taken by a variable   


 be the values taken by a variable  such

that  ,i=1,2,3.... Var.(Y)= 
 (b) 


 (c) 
 (d)

none of these

Watch Video Solution

x1, x2, ......, xn X and

y1, y2, .......... , yn Y

yi = axi + b Then, (a) a2V ar. (X)

V ar. (X) = a2V ar. (Y ) V ar. (X) = V ar. (X) + b

https://dl.doubtnut.com/l/_vLShL4LT992q
https://dl.doubtnut.com/l/_aZIea6TDcmjL


54. The algebraic sum of deviations of 10 observations

measured from 16 is
7. The mean is (a)
105 (b) 70 (c) 15.7 (d) 

None of these

Watch Video Solution

55. Calculate the mean deviation about median from the

following data:
340, 150, 210, 240, 300, 310, 320.

Watch Video Solution

56. For a group of 200 candidates the mean and S.D. were

found to be 40 and
 15 respectively. Later on it was found

https://dl.doubtnut.com/l/_aZIea6TDcmjL
https://dl.doubtnut.com/l/_wUJ2l3KLkQwt
https://dl.doubtnut.com/l/_ZRFp0GQBiFzo
https://dl.doubtnut.com/l/_6GltZ2wZFK2H


that the score 43 was misread as 34.
 Find the correct mean

and correct S.D.

Watch Video Solution

57. Find the mean deviation from the mean for the data:

6,7,10,12,13,4,8,20.

Watch Video Solution

58. The scores of a batsman in ten innings are :

38,70,48,34,42,55,63,46,54,44.
Find the mean deviation about

the median.

Watch Video Solution

https://dl.doubtnut.com/l/_6GltZ2wZFK2H
https://dl.doubtnut.com/l/_1YEVFvYQbQId
https://dl.doubtnut.com/l/_27yaMN3ijFhN
https://dl.doubtnut.com/l/_C7YDIPVHoE4b


59. Calculate the mean deviation about the mean of the set

of first 
natural numbers when 
is even natural number.

Watch Video Solution

n n

60. Calculate the mean deviation about the mean of the set

of first 
natural numbers when 
is odd natural number.

Watch Video Solution

n n

61. Find the variance and standard deviation of the following

data 5,12,3,18,6,8,2,10

Watch Video Solution

https://dl.doubtnut.com/l/_C7YDIPVHoE4b
https://dl.doubtnut.com/l/_P4Uk5bCz2zPe
https://dl.doubtnut.com/l/_mH8CTg2gK1W3
https://dl.doubtnut.com/l/_Ri26lsk7hns0


62. Compute the variance and standard deviation of the

following
observations of marks of 5 students of a tutorial

group:
Marks out of 25:8,12,13,15,22

Watch Video Solution

63. The number of telephone calls received at an exchange in

245 successive
 one-minute intervals are shown in the

following frequency distribution:
Number of calls
0
1
2
3
4
5

6
7
Frequency
14
21
25
43
51
40
39
12

Watch Video Solution

64. Calculate mean deviation from the median for the

following
distribution:
 
10
15
20
25
30
35
40
45
 
7
3
8xi : fi :

https://dl.doubtnut.com/l/_Ri26lsk7hns0
https://dl.doubtnut.com/l/_RQfkbzzZlFNL
https://dl.doubtnut.com/l/_VwGigZzomscB


5
6
8
4
9

Watch Video Solution

65. The mean deviation for 
observations 

from their mean 
 is given by
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

n x1, x2, ........., xn

X
n

∑
i=1

(xi − X)

n

∑
i=1

(xi − X)
1

n

n

∑
i=1

(xi − X)2
n

∑
i=1

(xi − X)2
1

n

66. Let 
 be n observations, and let 
 be

their arithematic mean and 
be their
variance.
 Statement

1: Variance of 
 .
 Statement
 2:

Arithmetic mean of 
 .
 (1)

Statement 1 is
 false, statement 2 is true
 (2)
 Statement 1 is

x1, x2, . . . . . . , xn x̄

σ2

2x1, 2x2, . . . . . . , 2xnis4σ
2

2x1, 2x2, . . . . . . , 2xnis4x

https://dl.doubtnut.com/l/_VwGigZzomscB
https://dl.doubtnut.com/l/_0KPAStKnYYPz
https://dl.doubtnut.com/l/_teJWxYPyQQyW


true, statement 2 is true; statement 2 is a correct

explanation for statement
 1
 (3)
 Statement 1 is
 true,

statement 2 is true; statement 2 is not a correct explanation

for
statement 1
(4)
Statement 1 is
true, statement 2 is false

Watch Video Solution

67. The scores of a batsman in 10 matches were as follows:

38,70,48,34,42,55,63,46,54,44 compute the variance and

standard deviation.

Watch Video Solution

68. The mean and variance of 7 observation is 8 and 16. If five

of the observations are 2, 4, 10, 12, 14. Find the
 remaining

https://dl.doubtnut.com/l/_teJWxYPyQQyW
https://dl.doubtnut.com/l/_KzeuqCiYpKkd
https://dl.doubtnut.com/l/_fLToQ7RLqTXq


two observations.

Watch Video Solution

69. If for a sample of size 60, we have the following

information 
 , then the

variance is
(a) 6.63 (b) 16 (c) 22 (d) 44

Watch Video Solution

∑x2
i = 18000  and  ∑xi = 960

70. The mean and standard deviation of 20 observations are

found to be
 10 and 2, respectively. One rechecking, it was

found that an observation 8
 was incorrect. Calculate the

correct mean and standard deviation in each of
 the

https://dl.doubtnut.com/l/_fLToQ7RLqTXq
https://dl.doubtnut.com/l/_mjFahulLLjuD
https://dl.doubtnut.com/l/_dWNoryITnOcA


following cases. (i)           If wrong item is
omitted
(ii)         If it is

replaced by
12.

Watch Video Solution

71. Consider the numbers 1,2,3,4,5,6,7,8,9,10. If
 1 is added to

each number, the variance of the numbers so obtained is
(a)

6.5           (b) 2.87           (c) 3.87        (d) 8.25

Watch Video Solution

72. If for distribution of 18 observations


 find the mean

and standard deviation.

Watch Video Solution

∑ (xi − 5) = 3and∑ (xi − 5)2 = 43,

https://dl.doubtnut.com/l/_dWNoryITnOcA
https://dl.doubtnut.com/l/_kkHQ85vf5S5t
https://dl.doubtnut.com/l/_W6w5egRAg4CK


73. If the men and standards deviation of 100 observations

are 50 and 4
 respectively. Find the sum of all the

observations and the sum of their
squares.

Watch Video Solution

74. Let 
 values of variable 
 and let 
 be

non zero real number. Then prove that the variance of the

observations 
 is 
 Var 
 . Also, find

their standard deviation.

Watch Video Solution

x1,  x2, .... ,  xn X ' a'

ax1,  ax2, ...,  axn a2 (X)

https://dl.doubtnut.com/l/_W6w5egRAg4CK
https://dl.doubtnut.com/l/_7kyOx94fxYs5
https://dl.doubtnut.com/l/_idGK3UwsEfcP


75. If two variates   
 are connected by the relation 

 ,where 
 are constants such that 


 (a) 
 (b) 
 (c) 


(d) none of these

Watch Video Solution

X and Y

Y =
aX + b

c
a, b, c

ac < 0, then σγ = σX

a

c
σγ = − σX

a

c

σγ = σX + b
a

c

76. Let 
 be 
 values of a variable X. If these

values are changed to


 show that the

variance remains unchanged.

Watch Video Solution

x1, x2, x3, , n

x1 + a, x2 + a, .... . , xn + a, wherea ∈ R,

https://dl.doubtnut.com/l/_sLoJllQHu4tn
https://dl.doubtnut.com/l/_QPUtEy1fDQXA


77. If for a sample of size 60, we have the following

information 
 , then the

variance is
(a) 6.63 (b) 16 (c) 22 (d) 44

Watch Video Solution

∑x2
i = 18000  and  ∑x2

i = 960

78. The weight of coffee in 70 jars is shown in the following

table:
Weight (in grams):, 
, 
, 
 ,


 , 204-205, 205-206
 
 , 13, 27, 18,
 10, 1, 1

Determine the variance and
standard deviation of the above

distribution.

Watch Video Solution

200 − 201 201 − 202 202 − 203

203 − 204 Frequency

https://dl.doubtnut.com/l/_jFYtkVe4KNMv
https://dl.doubtnut.com/l/_m5Bl1cDA1Wkf


79. Suppose that samples of polythene bags from two

manufacturers, A and B,
 are tested by a prospective buyer

for bursting pressure, with the following
 results.
 Bursting

Pressure in kg, Number of bags manufactured by

manufacturer
 5-10, 2, 9
 10-15, 9, 11
 15-20, 29, 18
 20-25, 54, 32

25-30, 11, 27
 30-35, 5, 13
 Which set of the bags has the

highest average brusting pressure?

Watch Video Solution

80. Let 
 be values taken by a variable 


be the values taken by a variable 

such that 
 Then,
 (a)


 (b) 
 (c) 


(d) none of these

x1, x2, ......, xn

Xandy1, y2, .......... , yn Y

yi = axi + b, i = 1, 2, , n.

V ar(Y ) = a2V ar(X) V ar(X) = a2V ar(Y )

V ar(X) = V ar(X) + b

https://dl.doubtnut.com/l/_dDFIi2IDEZlr
https://dl.doubtnut.com/l/_XMVlRU9keacT


Watch Video Solution

81. The sum of the squares of deviation of 10 observations

from their mean 50 is 250,then coefficient of variation is

Watch Video Solution

82. If the S.D. of a set of observations is 8 and if each

observation is
 divided by -2, the S.D. of the new set of

observations will be
(a) -4             (b) -8              (c) 8          (d)

4

Watch Video Solution

https://dl.doubtnut.com/l/_XMVlRU9keacT
https://dl.doubtnut.com/l/_sNvkQREyXYWd
https://dl.doubtnut.com/l/_R1aYmwuE6VzS


83. Find the mean and variance of frequency distribution

given below:
 
 , 
 , 
 , 
 , 


 
, 6, 4, 5, 1

Watch Video Solution

xi : 1 ≤ x < 3 3 ≤ x < 5 5 ≤ x < 7

7 ≤ x < 10 fi :

84. The mean deviation of the series


 from its mean is
 
 (b) 


(c) 
(d) 

Watch Video Solution

a, a + d, a + 2d, , a + 2n
(n + 1)d

2n + 1
nd

2n + 1

n(n + 1)d

2n + 1

(2n + 1)d

n(n + 1)

85. The standard deviation of the data:
 
, 1, 
, 
, ..., 


, 
 , 
 , 
 , ..., 
 is


x : a a2 an f :

^ nC0 ^ nC1 ^ nC2 ^ nCn

https://dl.doubtnut.com/l/_0Pkz7kMeYeur
https://dl.doubtnut.com/l/_KOaWr2Hp8xBY
https://dl.doubtnut.com/l/_XVWYiN8OEUNW



 (b) 


 (c) 


(d) none of these

Watch Video Solution

( )
n

− ( )
2n

1 + a2

2
1 + a

2

( )
2n

− ( )
2n

1 + a2

2
1 + a2

2

( )
2n

− ( )
n

1 + a

2
1 + a2

2

86. The mean deviation of the numbers
 3,4,5,6,7 from the

mean is(a)
25  (b) 5 (c) 1.2 (d) 0

Watch Video Solution

87. A batsman scores run in 10 innings as

38,70,48,34,42,55,63,46,54 and
44. The mean deviation about

mean is
8.6                 (b) 6.4                 (c) 10.6            (d) 7.6

Watch Video Solution

https://dl.doubtnut.com/l/_XVWYiN8OEUNW
https://dl.doubtnut.com/l/_dSfu0kZF5oFq
https://dl.doubtnut.com/l/_jgpgGZam64Qv


Watch Video Solution

88. The scores of a batsman in 10 matches were as follows:

38,70,48,34,42,55,63,46,54,44 compute the variance and

standard deviation.

Watch Video Solution

89. Calculate mean for the following data:
 
3
 9
 17
 23
 27


8
10
12
9
5

Watch Video Solution

xi :

fi :

90. Calculate the mean and standard deviation for the

following data:
 Wages upto
 (into Rs.), 15, 30, 45, 60, 75, 90,

https://dl.doubtnut.com/l/_jgpgGZam64Qv
https://dl.doubtnut.com/l/_XROzXn0mgbHQ
https://dl.doubtnut.com/l/_UOl8PyixATMf
https://dl.doubtnut.com/l/_kEsvUUl4cN93


105, 120
No. of
workers, 12, 30, 65, 107, 157, 202, 222, 230

Watch Video Solution

91. The following table gives the distribution of income of

100 families in
 a village. Calculate the standard deviation:

Income Rs., 0-1000,
 1000-2000, 2000-3000, 3000-4000, 4000-

5000, 5000-6000
No. of
Families, 18, 26, 30, 12, 10, 4

Watch Video Solution

92. While calculating mean and variance of 10 readings, a

student
 wrongly used the reading of 52 for the correct

reading 25. He obtained the
mean and variance as 45 and 16

respectively. Find the correct mean and the
variance.

https://dl.doubtnut.com/l/_kEsvUUl4cN93
https://dl.doubtnut.com/l/_EzMBUKdqg0JF
https://dl.doubtnut.com/l/_TmvKtmfiPcn4


Watch Video Solution

93. Mean   and standard deviation of
 100 observations were

found to be 40 and 10 respectively. If at the time of

calculation two observations were wrongly taken as 30 and

70 in place of 3
 and 27 respectively. Find the correct

standard deviation.

Watch Video Solution

94. The number of telephone calls received at an exchange

in 245 successive
 one-minute intervals are shown in the

following frequency distribution:
Number of
calls, 0, 1, 2, 3, 4,

5, 6, 7
Frequency, 14,
 21, 25, 43, 51, 40, 39, 12
 Calculate mean

deviation about Median.

https://dl.doubtnut.com/l/_TmvKtmfiPcn4
https://dl.doubtnut.com/l/_CU2IJGsJFVAf
https://dl.doubtnut.com/l/_tZLlM9qc6Snn


Watch Video Solution

95. Calculate mean deviation from the median for the

following
distribution:
 
 , 10, 15, 20,
 25, 30, 35, 40, 45
 
 ,

7, 3, 8, 5,
6, 8, 4, 9

Watch Video Solution

xi : fi :

96. Find the variance and standard deviation for the

following data: 4,6,10,12,14,18,20

Watch Video Solution

97. Complete the variance and standard deviation of the

following
observations of marks of 5 students of a tutorial

https://dl.doubtnut.com/l/_tZLlM9qc6Snn
https://dl.doubtnut.com/l/_wDRL30W8Yy0m
https://dl.doubtnut.com/l/_sU2gUrnZlXnR
https://dl.doubtnut.com/l/_9weIDZ9izoy4


group:
Marks out of 25:8,12,13,15,22

Watch Video Solution

98. Calculate the mean deviation about the mean of the set

of first 
natural numbers when 
is even natural number.

Watch Video Solution

n n

99. Let 
 be 
 values of a variable X. If these

values are changed to


 show that the

variance remains unchanged.

Watch Video Solution

x1, x2, x3, , n

x1 + a, x2 + a, .... . , xn + a, wherea ∈ R,

https://dl.doubtnut.com/l/_9weIDZ9izoy4
https://dl.doubtnut.com/l/_p9N6T2nt9RPD
https://dl.doubtnut.com/l/_LoQCkoccV1cz
https://dl.doubtnut.com/l/_hxZEBh0reQ7S


100. Find the mean deviation from the mean for the data:

6,7,10,12,13,4,8,20.

Watch Video Solution

101. The scores of a batsman in ten innings are :

38,70,48,34,42,55,63,46,54,44.
Find the mean deviation about

the median.

Watch Video Solution

102. Calculate the mean deviation about median from the

following data:
340, 150, 210, 240, 300, 310, 320.

Watch Video Solution

https://dl.doubtnut.com/l/_hxZEBh0reQ7S
https://dl.doubtnut.com/l/_dGRZXN7HA5gc
https://dl.doubtnut.com/l/_SRPMbAvKqtBu


103. For a group of 200 candidates the mean and S.D. were

found to be 40 and
 15 respectively. Later on it was found

that the score 43 was misread as 34.
 Find the correct mean

and correct S.D.

Watch Video Solution

104. The mean deviation from e median is
 a.equal to that

measured from another value
b.maximum if all observations

are positive
 c,greater than that measured from any other

value.
d,less than that measured form any other value.

Watch Video Solution

https://dl.doubtnut.com/l/_xLRBUetkAorh
https://dl.doubtnut.com/l/_P7kp1KfyVTcJ


105. Calculate the mean deviation about the mean of the set

of first 
natural numbers when 
is odd natural number.

Watch Video Solution

n n

106. Let 
values of variable 
and let 
be

non zero real number. Then prove that the variance of the

observations 
 is 
 Var 
 . Also, find

their standard deviation.

Watch Video Solution

x1,  x2, .... ,  xn X ' a'

ax1,  ax2, ...,  axn a2 (X)

107. Life of bulbs produced by two factories A and B are

given below:
Length of
life (in hours):, 550-650, 650-750, 750-

https://dl.doubtnut.com/l/_Z26ZlXktvece
https://dl.doubtnut.com/l/_DrtEUOIrtEBT
https://dl.doubtnut.com/l/_Rag9svBTMOlw


850, 850-950, 950-1050
 Factory A:
 (Number of bulbs), 10, 22,

52, 20, 16
 Factory
 B(Number of bulbs), 8, 60, 24, 16, 12
 The

bulbs of which factory are more consistent from the point of

view of length of life?

Watch Video Solution

108. If for distribution of 18 observations


 find the mean

and standard deviation.

Watch Video Solution

∑ (xi − 5) = 3and∑ (xi − 5)2 = 43,

109. If the men and standards deviation of 100 observations

are 50 and 4
 respectively. Find the sum of all the

https://dl.doubtnut.com/l/_Rag9svBTMOlw
https://dl.doubtnut.com/l/_ecd60640yPjO
https://dl.doubtnut.com/l/_WMmxxNxJD9Vj


observations and the sum of their
squares.

Watch Video Solution

110. Find the standard deviation for the following data:
 (i)


, 3, 8, 13, 18,
23
 
, 7, 10, 15, 10,
6
(ii)
 
, 2, 3, 4, 5,
6, 7, 7


, 4, 9, 16,
14, 11, 6, 6

Watch Video Solution

x : f : x : f :

111. The mean and standard deviation of 20 observations are

found to be
 10 and 2, respectively. One rechecking, it was

found that an observation 8
 was incorrect. Calculate the

correct mean and standard deviation in each of
 the

https://dl.doubtnut.com/l/_WMmxxNxJD9Vj
https://dl.doubtnut.com/l/_XG3t4RlSe7jZ
https://dl.doubtnut.com/l/_pW3F98ZrBovY


following cases. (i)           If wrong item is
omitted
(ii)         If it is

replaced by
12.

Watch Video Solution

112. For a frequency distribution mean deviation from mean

in computed by
 (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

M
.
D

.
=

∑ f

∑ f|d|
M

.
D

.
=

∑ d

∑ f

M
.

D
.

=
∑ fd

∑ f
M

.

D
.

=
∑ f|d|

∑ f

113. Calculate the mean and standard deviation for the

following
distribution:
Marks:, 20-30,
 30-40, 40-50, 50-60, 60-

70, 70-80, 80-90
No. of
students:, 3, 6, 13, 15, 14, 5, 4

Watch Video Solution

https://dl.doubtnut.com/l/_pW3F98ZrBovY
https://dl.doubtnut.com/l/_Br2mTy4j8qX5
https://dl.doubtnut.com/l/_DyCgMehAep7o


114. The measurements of the diameters (in mm) of the

heads of 107 screws
 are given below:
 Diameter (in
 mm), 33-

35, 36-38, 39-41, 42-44, 45-47
 No. of screws,
 10, 19, 23, 21, 27.

Find the mean diameter.

Watch Video Solution

115. Let a, b, c, d, e, be the observations with m and standard

deviation s.
 The standard deviation of the observations a+k,

b+k, c+k, d+k, e+k is
 
(b) 
(c) 
(d) 

Watch Video Solution

s ks s + k
s

k

https://dl.doubtnut.com/l/_DyCgMehAep7o
https://dl.doubtnut.com/l/_Ig706O7DscrB
https://dl.doubtnut.com/l/_RM8iMNTgst3e


116. If 
 then the

coefficient of variation is
(a) 36% (b) 41% (c) 25% (d) none of

these

Watch Video Solution

n = 10,X = 12and∑x2 = 1530,

117. The mean deviation for 
 observations


 from their mean 
 is given by
 (a)


 (b) 
 (c) 
 (d) 

Watch Video Solution

n

x1, x2, ........., xn X

n

∑
i=1

(xi − X)
n

∑
i=1

|xi − X|
1

n

n

∑
i=1

(xi − X)2

n

∑
i=1

(xi − X)2
1

n

https://dl.doubtnut.com/l/_kUmSOfOcvQHr
https://dl.doubtnut.com/l/_dGeS5pgv9cUI


118. The standard deviation of the observations 6,5,9,13,12,8,10

is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

6 √6
52

7
√

52

7

119. If the standard deviation of a variable 
 , then

standard deviation of variable 
 is
 (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

X is σ

aX + b

c
aσ σ

a

c

∣
∣

∣
∣σ

a

c

aσ + b

c

120. Following are the marks obtained, out of 100, by two

students Ravi and
Hashina in 10 life?
Ravi:
25
50
45
30
70
42

https://dl.doubtnut.com/l/_OfOwPh0w9nnR
https://dl.doubtnut.com/l/_DNsMLLiIdE7V
https://dl.doubtnut.com/l/_GMSXdXZeWSBS


36
48
35
60
Hashina:
10
70
50
20
95
55
42
60
48
80
 .Who is

more intelligent and who is more consistent?

Watch Video Solution

121. Consider the numbers 1,2,3,4,5,6,7,8,9,10. If 1 is added to

each
number, the variance of the numbers so obtained is

A. 6.5

B. 2.87

C. 3.87

D. 4.87

Answer: null

Watch Video Solution

https://dl.doubtnut.com/l/_GMSXdXZeWSBS
https://dl.doubtnut.com/l/_moWBt41sJnix


122. The mean of 100 numbers observations is 50 and their

standards
 deviation is 5. The sum of all squares of all the

observations is
 (a)50,000                   (b) 250,000                 (c)

252500         (d) 255000

Watch Video Solution

123. The following is ht record of goals scored by team A in a

football
session
                        For the team b, mean number of

goals scored per match was 2 with a
standard deviation 1.25

goals. Find which team may be considered more
consistent?

Watch Video Solution

https://dl.doubtnut.com/l/_moWBt41sJnix
https://dl.doubtnut.com/l/_tW7Sz6vtqbJs
https://dl.doubtnut.com/l/_d3QVrp6Sd7e6


124. The standard deviation of first 10 natural numbers is
(a)

8.25             (b) 6.5           (c) 3.87       (d) 2.87

Watch Video Solution

125. Let 
be 
observations. Let  for

i=1,2,...,n where a and b are constants. If the mean of 
 is

48 and their standard deviation is 12, the mean of  is 55

and standard deviation of  is 15, the values of a and b

are (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

x1, x2, , xn xn yi = axi + b

xi' s

yi' s

yi' s

a = 1. 25, b = − 5 a = − 1. 25, b = 5

a = 2. 5, b = − 5 a = 2. 5, b = 5

https://dl.doubtnut.com/l/_IozceLNrdUWX
https://dl.doubtnut.com/l/_PojvDQpUwEbb


126. Let 
 be n observations and 
 be their

arithmetic mean. The standard deviation is given by
 (a)


 (b) 
 (c) 


(c) 

Watch Video Solution

x1, x2, ..., xn
¯̄X̄

n

∑
i=1

(xi − ¯̄X̄)
2

n

∑
i=1

(xi − ¯̄X̄)
21

n


⎷

n

∑
i=1

(xi − X)2
1

n

n

∑
i=1

x2
i −

¯̄X̄
21

n

127. The following are some particulars of the distribution of

weights of
boys and girls in a class:
 
Boys
Girls
Number 100

50
Mean
60kg
45kg
Variance
9
4
Which of the distributions

is more variable?

Watch Video Solution

https://dl.doubtnut.com/l/_Vznm30YmOIP7
https://dl.doubtnut.com/l/_BRR4GHWlNZLE


128. The mean deviation of the data 3,10,10,4,7,10,5 from the

mean is
(a) 2             (b) 2.57              (c)3          (d) 3.57

Watch Video Solution

129. There are 60 students in a class. The following is the

frequency
distribution of marks obtained by the students in

a test:
 Marks:, 0, 1,
 2, 3, 4, 5
 Frequency , 
 , 
 , 
 , 


 , 
 , .
 Determine mean and standard

deviation of the marks.

Watch Video Solution

x − 2 x x2

(x + 1)2 2x x + 1

https://dl.doubtnut.com/l/_YWiUw4MuoFLX
https://dl.doubtnut.com/l/_6qeE3FJbEzBX


130. Find the mean deviation about median for the following

data :
Marks                   0-10          10-20        20-30              30-40        40-

50      50-60
Number of      6            
8            14             16          

4              2
Girls

Watch Video Solution

131. The following table gives the number of finished articles

turned out
 per day be different number of workers in a

factors. Find the standard
 deviation of the daily output of

finished articles.
Find the variance and standard deviation of

the following frequency
 distribution:
 Number of
 article:, 18,

19, 20, 21, 22, 23, 24, 25, 26, 27
No. of
workers:, 3, 7, 11, 14, 18, 17,

13, 8, 5, 4

Watch Video Solution

https://dl.doubtnut.com/l/_ESKIVw5AXxPM
https://dl.doubtnut.com/l/_LgPiUQy7hAIX


132. If a is positive integer and the frequency distribution:


 , A, 2a, 3a, 4a,
 5a, 6a
 
 , 2, 1, 1, 1,
 1, 1 and variance is 160

then find the value of a.

Watch Video Solution

x : f :

133. Calculate the mean deviation about median age for the

age
distribution of 100 persons given below:
Age      16-20    

21-25      
 26-30         31-35       36-40          
 41-45       46-50       51-55

Number   5             6           12         14          26          12         

16         9

Watch Video Solution

https://dl.doubtnut.com/l/_LgPiUQy7hAIX
https://dl.doubtnut.com/l/_qbwOKR4836GL
https://dl.doubtnut.com/l/_H8JVUtEpNZ1g
https://dl.doubtnut.com/l/_z0TY4tSlrUAG


134. Calculate mean deviation from the median of the

following data:
 Class interval:
 0-6
 6-12
 12-18
 18-24
 24-30

Frequency
4
5
3
6
2

Watch Video Solution

135. Find the mean of first n terms of an A.P. whose
first term

is a and common difference is d.

Watch Video Solution

136. Find the variance and standard deviation of the

following frequency
distribution:
Variable 
 , 2, 4, 6, 8,
 10,

12, 14, 16
Frequency 
, 4, 4, 5, 15,
8, 5, 4, 5

Watch Video Solution

(xi)

(fi)

https://dl.doubtnut.com/l/_z0TY4tSlrUAG
https://dl.doubtnut.com/l/_rB3CeqNX82An
https://dl.doubtnut.com/l/_CtoyfETDWUzQ


137. Calculate the mean deviation from the median of the

following data:
Wages per
week (in Rs.), 10-20, 20-30, 30-40,

40-50, 50-60, 60-70, 70-80
No. of
workers, 4, 6, 10, 20, 10, 6, 4

Watch Video Solution

138. Find the mean deviation from the mean of the following

data:
Classes:, 10-20,
 20-30, 30-40, 40-50, 50-60, 60-70, 70-80

frequency, 2,
3, 8, 14, 8, 3, 2

Watch Video Solution

https://dl.doubtnut.com/l/_CtoyfETDWUzQ
https://dl.doubtnut.com/l/_nmn6CrtZJG49
https://dl.doubtnut.com/l/_KOlGD03eCI6T


139. Find the mean deviation about the mean for the

following data:
 Marks
 obtained , 10-20, 20-30, 30-40, 40-50,

50-60, 60-70, 70-80
Number of
students, 2, 3, 8, 14, 8, 3, 2

Watch Video Solution

140. The age distribution of 100 life-insurance policy holders

is as follows:
 Age (on
 nearest birthday), 17-19.5, 20-25.5, 26-

35.5, 36-40.5, 41-50.5, 51-55.5, 56-60.5, 61-70.5
 No. of
 persons,

5, 16, 12, 26, 14, 12, 6, 5

Watch Video Solution

https://dl.doubtnut.com/l/_Yv2F52SseqdS
https://dl.doubtnut.com/l/_HHxZVXcQd2ID


141. Find the mean deviation from the mean for the

following data:
Size:, 20, 21,
22, 23, 24
frequency, 6,
4, 5, 1, 4

Watch Video Solution

142. Find the mean deviation from the mean for the

following data:
Size:
1
3
5
7
9
11
13
15
Frequency:
3
3
4
14
7
4

3
4

Watch Video Solution

143. Find the mean deviation from the median for the

following data:
Size:, 10, 11,
12, 14, 15
Frequency:, 2,
3, 8, 3, 4

Watch Video Solution

https://dl.doubtnut.com/l/_nBoU74oyizee
https://dl.doubtnut.com/l/_O8uJpNfgmuhj
https://dl.doubtnut.com/l/_4IZKh2dzpdnK


144. Find the mean deviation about the median of the

following frequency distribution:
Class:, 0-6, 6-12,
 12-18, 18-24,

24-30
Frequency:, 8,
10, 12, 9, 5

Watch Video Solution

145. Calculate the mean and standard deviation for the

following table given
 the age distribution of a group of

people:
Age:
20-30
30-40
40-50
50-60
60-70
 70-80
80-90
 No.

of persons:
3
51
122
141
130
51
2

Watch Video Solution

https://dl.doubtnut.com/l/_4IZKh2dzpdnK
https://dl.doubtnut.com/l/_WN9parvdg9oY
https://dl.doubtnut.com/l/_lWdOIQpPY7tb


146. The lengths (in cm) of 10 rods in a shop are given below:

40.0,52.3,55.2,72.9,52.8,79.0,32.5,15.2,27.9,30.2
 Find mean

deviation from median
 (ii) find mean deviation from the

mean also.

Watch Video Solution

147. The mean and variance of 7 observations are 8 and 16,

respectively. If five of the observations are 2, 4, 10, 12, 14. Find

the
remaining two observations.

Watch Video Solution

https://dl.doubtnut.com/l/_amQhR7Ufg6UV
https://dl.doubtnut.com/l/_mAeGnC7hSIPm


148. An analysis of monthly  
 wages paid to workers in two

firms A and B, belonging to the same
 industry, gives the

following result and
 no. of workers of firm A and B are 586

and 648 respectively
            No. of wage
earners            Firm

A                             Firm B                       Mean of monthly
wages                Rs

5253                     Rs 5253                                                                    Variance of the

distribution      100                                    121
                        of wages (i)               

Which firm A or B
 pays larger amount as monthly wages?

(ii)               Which firm, A or
 B, show greater variability in

individual wages?

Watch Video Solution

149. From the data given below state which group is more

variable 
Marks, 10-20,
 20-30, 30-40, 40-50, 50-60,G1 or G2 ?

https://dl.doubtnut.com/l/_NJSxWyfepYOc
https://dl.doubtnut.com/l/_ffS88hK8sF6r


60-70, 70-80
Group 
 , 9, 17, 32,
 33, 40, 10, 9
Group 
 , 10,

20, 30,
25, 43, 15, 7

Watch Video Solution

G1 G2

150. From the prices of shares X and Y below, find out which

is more
stable in value
X	35	54	52	53	56	58	52	50	51	49
.
Y	108

107	105	105	106	107	104	103	104	101

Watch Video Solution

151. If two variates 
 are connected by the relation 


 are constants such that 


 (a) 
 (b) 
 (c) 


(d) none of these

XandY

Y = , wherea, b, c
aX + b

c

ac < 0, then σγ = σX

a

c
σγ = − σX

a

c

σγ = σX + b
a

c

https://dl.doubtnut.com/l/_ffS88hK8sF6r
https://dl.doubtnut.com/l/_ZzqK9SriGa07
https://dl.doubtnut.com/l/_7myF7cafpS8R


Watch Video Solution

152. Calculate the variance and standard deviation from the

data given
 below:
 Size of item,
 3.5, 4.5, 5.5, 6.5, 7.5, 8.5, 9.5

Frequency , 3,
7, 22, 60, 85, 32, 8

Watch Video Solution

153. Find the variance and standard deviation for the

following
distribution:
X:, 4.5, 14.5,
 24.5, 34.5, 44.5, 54.5, 64.5


, 1, 5, 12, 22,
17, 9, 4

Watch Video Solution

f :

https://dl.doubtnut.com/l/_7myF7cafpS8R
https://dl.doubtnut.com/l/_s7wsMiZQ3VHy
https://dl.doubtnut.com/l/_Zhsg1jaqTOUN


154. Calculate the mean deviation about the median of the

following
observation: 3011,2780,3020,2354,3541,4150,5000

Watch Video Solution

155. The scores of a batsman in ten innings are :

38,70,48,34,42,55,63,46,54,44.
Find the mean deviation about

the median.

Watch Video Solution

156. Calculate the mean deviation about median of the

following data: 34, 66, 30, 38, 44, 50, 40, 60, 42, 51

Watch Video Solution

https://dl.doubtnut.com/l/_7PBUOGSCGYSQ
https://dl.doubtnut.com/l/_O7JhSXDJ2AKf
https://dl.doubtnut.com/l/_wUWOUnUZxEKZ


157. Calculate the mean deviation about the median of the

following
observation:22,24,30,27,29,31,25,28,41,42

Watch Video Solution

158. Calculate the mean deviation about the median of the

following
observation: 38,70,48,34,63,42,55,44,53,47

Watch Video Solution

159. Calculate the mean deviation about mean of the

following data.(i) 1, 4, 7, 8, 9,10, 12, 13, 17

Watch Video Solution

https://dl.doubtnut.com/l/_wUWOUnUZxEKZ
https://dl.doubtnut.com/l/_Dm9CGyBeRrOJ
https://dl.doubtnut.com/l/_ENZKJwK2o2Xx
https://dl.doubtnut.com/l/_kS70ROvHMQvp


160. Calculate the mean deviation from the mean for the

following
data:13,17,16,14,11,13,10,16,11,18,12,17

Watch Video Solution

161. Calculate the mean deviation from the mean for the

following
data:38,70,48,40,42,55,63,46,54,44

Watch Video Solution

162. Calculate the mean deviation from the mean for the

following
data:36,72,46,42,60,45,53,46,51,49

Watch Video Solution

https://dl.doubtnut.com/l/_GQd14CNkQ2K9
https://dl.doubtnut.com/l/_YPiV3yA0P0Qr
https://dl.doubtnut.com/l/_mqPKtb7TYKG3
https://dl.doubtnut.com/l/_tfF7dR8mCnan


163. Calculate the mean deviation from the mean for the

following
data:57,64,43,67,49,59,44,47,61,59

Watch Video Solution

164. Calculate the mean deviation of the following income

groups of five and seven members from their medians:
 1st

income group (in Rs.):
 4000
 4200
 4400
 4600
 4800
 2nd

income group (in Rs.):
 3800
 4000
 4200
 4400
 4600
 4800

5800

Watch Video Solution

165. Calculate the mean deviation from the median of the

following frequency distribution:5 7 9 11 13 15 17 2 4 6 8 10 12

https://dl.doubtnut.com/l/_tfF7dR8mCnan
https://dl.doubtnut.com/l/_Gvc3zCRa5Ev7
https://dl.doubtnut.com/l/_uU4q8i1FzS4c


8

Watch Video Solution

166. Calculate the mean deviation about the median of the

following
 frequency distribution:
 5
 7
 9
 11
 13
 15
 17
 Having

Frequency
2
4
6
8
10
12
8

Watch Video Solution

167. Find the mean deviation from the mean for the

following data:
5
2
9
10
12
15
8
6
2
2
2
6

Watch Video Solution

https://dl.doubtnut.com/l/_uU4q8i1FzS4c
https://dl.doubtnut.com/l/_LkPIkAoYiGU8
https://dl.doubtnut.com/l/_RFZQtFQFqo9G


168. Find the mean deviation from the median of the

following data:
15
21
27
30
3
5
6
7
 

Watch Video Solution

169. Compute the mean deviation from the median of the

following
 distribution:
 Class
 0-10
 10-20
 20-30
 30-40
 40-50

Frequency
5
10
20
5
10

Watch Video Solution

170. Find the mean deviation from the mean for the

following data:
Classes
0-100
100-200
200-300
300-400
400-

500
500-600
600-700
700-800
Frequencies
4
8
9
10
7
5
4
3

Watch Video Solution

https://dl.doubtnut.com/l/_3CneAerBH3O0
https://dl.doubtnut.com/l/_VZJPI3jR5Qnq
https://dl.doubtnut.com/l/_KFmD4m70saHf


Watch Video Solution

171. Compute mean deviation from mean of the following

distribution: Marks
10-20
20-30
30-40
40-50
50-60
 60-70
 70-

80
80-90
No. of students
8
10
15
2
20
18
9
5

Watch Video Solution

172. Find the deviation from the mean and from median of

the following
distribution: Marks
0-10
10-20
20-30
30-40
 40-

50
No. of Students
5
8
15
16
6

Watch Video Solution

https://dl.doubtnut.com/l/_KFmD4m70saHf
https://dl.doubtnut.com/l/_uWcFpMffN2EW
https://dl.doubtnut.com/l/_8ohB9dUgDRu1


173. Calculate the mean deviation about the mean for the

following frequency distribution Class interval

 Frequency 

Watch Video Solution

0 − 4, 4 − 8, 8 − 12, 12 − 16, 16 − 20

4, 6, 8, 5, 2

174. Let 
values of variable 
and let 
be

non zero real number. Then prove that the variance of the

observations 
 is 
 Var 
 . Also, find

their standard deviation.

Watch Video Solution

x1,  x2, .... ,  xn X ' a'

ax1,  ax2, ...,  axn a2 (X)

https://dl.doubtnut.com/l/_VgzL8mIHH6el
https://dl.doubtnut.com/l/_5CJHxgwKvG1O


175. Calculate the mean and standard deviation of first 

natural numbers.

Watch Video Solution

n

176. Find the mean variance and standard deviation for the

following data:
2,4,5,6,8,17

Watch Video Solution

177. Find the mean, variance and standard deviation for the

following data:
6,7,10,12,13,4,8,12

Watch Video Solution

https://dl.doubtnut.com/l/_xR6KGQsGUiZT
https://dl.doubtnut.com/l/_ElHDRXX2h8TN
https://dl.doubtnut.com/l/_aLtShZ5LcwgP
https://dl.doubtnut.com/l/_IYMuSOihvAMI


178. Find the mean, variance and standard deviation for the

following
data: 227,235,255,269,292,299,312,321,333,348

Watch Video Solution

179. The variance of 20 observations is 5. If each observation

is multiplied
 by 2 find the variance of the resulting

observations.

Watch Video Solution

180. The variance of 15 observations is 4. If each observations

increased by
 9 find the variance of the resulting

observations.

Watch Video Solution

https://dl.doubtnut.com/l/_IYMuSOihvAMI
https://dl.doubtnut.com/l/_nIN3ZozEgbMc
https://dl.doubtnut.com/l/_tB5iCkBM0te7


181. The mean of 5 observations is 4.4 and their variance is

8.24. If three of the observations are 1, 2 and 6, find the other

two observations.

Watch Video Solution

182. The mean and standard deviation of six observations

are 8 and 4,
 respectively. If each observation is multiplied by

3, find the new mean and
 new standard deviation of the

resulting observations.

Watch Video Solution

https://dl.doubtnut.com/l/_tB5iCkBM0te7
https://dl.doubtnut.com/l/_48pCKKYVh9r0
https://dl.doubtnut.com/l/_uQvSbr7xrkSu


183. The mean and variance of eight observations are 9 and

9.25,
 respectively. If six of the observations are 6, 7, 10, 12, 12

and 13, find
the remaining two observations.

Watch Video Solution

184. For a group of 200 candidates, mean was found to 40

but it was discovered later that the scores of 43 and 35 were

misread as 34 and 53 respectively. Then the correct mean is

Watch Video Solution

185. The mean and standard deviation of 100 observations

were calculated as
40 and 5.1 respectively by a student who

https://dl.doubtnut.com/l/_iVp4zUJhvlr5
https://dl.doubtnut.com/l/_GOL5kXIqotLE
https://dl.doubtnut.com/l/_Wseyz5nG0bTY


took by mistake 50 instead of 40 for
one observation. What

are the correct mean and standard deviation?

Watch Video Solution

186. The mean and standard deviation of 20 observations are

found to be
 10 and 2, respectively. One rechecking, it was

found that an observation 8
 was incorrect. Calculate the

correct mean and standard deviation in each of
 the

following cases. (i) If wrong item is
 omitted
 (ii) If it is

replaced by
12.

Watch Video Solution

https://dl.doubtnut.com/l/_Wseyz5nG0bTY
https://dl.doubtnut.com/l/_d1yqJ8V6oGoP


187. The mean and standard deviation of a group of 100

observations
were found to be 20 and 3, respectively. Later

on it was found that three
 observations were incorrect,

which are recorded as 21, 21 and 18. Find the
 mean and

standard deviation if the incorrect observations are omitted.

Watch Video Solution

188. Show that the two formulae for the standard deviation

of ungrouped
 data: 



 are equivalent where 

.

Watch Video Solution

σ = √ ∑ (xi − ¯̄X̄)
21

n

and σ ′ = √ ∑x2
i
− ¯̄X̄

21

n

¯̄X̄ = ∑xi

1

n

https://dl.doubtnut.com/l/_QdeXRlfLFpAI
https://dl.doubtnut.com/l/_KGwwxJoWjNhM
https://dl.doubtnut.com/l/_hWe3fJctauk9


189. Find the variance and standard deviation for the

following
distribution:
X:, 4.5, 14.5,
 24.5, 34.5, 44.5, 54.5, 64.5


, 1, 5, 12, 22,
17, 9, 4

Watch Video Solution

f :

190. Table below shows the frequency 
 with which 
 alpha

particles were radiated from a diskette
 
0
1
2
3
4
5
6
7
8
9

10
 11
 12
 
 51
 203
 383
 525
 532
 408
 273
 139
 43
 27
 10
 4
 2.

Calculate the mean and variance

Watch Video Solution

f x

x :

f :

191. Calculate the mean and S.D for the following data:

Expenditure (in Rs.)
0-10
10-20
20-30
30-40
40-50
Frequency:

https://dl.doubtnut.com/l/_hWe3fJctauk9
https://dl.doubtnut.com/l/_lYfPOMtB3tte
https://dl.doubtnut.com/l/_nOksiXdxw1ep


14
13
27
21
15

Watch Video Solution

192. Calculate the standard deviation for the following data:

Class
 0-30
 30-60
 60-90
 90-120
 120-150
 150-180
 180-210

Frequency:
9
17
43
82
81
44
24

Watch Video Solution

193. The mean and standard deviation of 100 observations

were calculated as
40 and 5.1 respectively by a student who

took by mistake 50 instead of 40 for
one observation. What

are the correct mean and standard deviation?

Watch Video Solution

https://dl.doubtnut.com/l/_nOksiXdxw1ep
https://dl.doubtnut.com/l/_cb4qDslqWei4
https://dl.doubtnut.com/l/_BLnueF4Pbv4N


194. Calculate the mean, median and standard deviation of

the following
 distribution:
 Class interval
 31-35
 36-40
 41-45

46-50
51-55
56-60
61-65
66-70
Frequency:
2
3
8
12
16
5
2
3

Watch Video Solution

195. Calculate mean, variance and standard deviation of the

following
 frequency distribution:
 Class
 1-10
 10-20
 20-30
 30-

40
40-50
0-60
Frequency:
11
29
18
4
5
3

Watch Video Solution

196. An analysis of monthly wages paid to workers in two

firms A and B, belonging
 to the same industry, gives the

https://dl.doubtnut.com/l/_BLnueF4Pbv4N
https://dl.doubtnut.com/l/_PWrmySXPXuWT
https://dl.doubtnut.com/l/_C1py5xi5H4IM
https://dl.doubtnut.com/l/_WNo7gnzl9Dsq


following results:
   
 Firm A
 Firm B
 No. of wages earners
 586

684
Mean of monthly wages
Rs. 5253
Rs. 5253
Variance of the

distribution of wages
 100
 121
 Which firm A or B pays to

larger mount as monthly wages?
 Which firm A or B shows

greater variability in individual wages?

Watch Video Solution

197. An analysis of monthly wages paid to workers in two

firms A and B, belonging to the same industry, gives the

following results: Firm A Firm B No. of wage earners 586 648

Mean of monthly wages Rs 5253 Rs 5253 Variance of the

distribution of wages 100 121 (i) Which firm A or B pays

larger amount as monthly wages? (ii) Which firm, A or B,

shows greater variability in individual wages?

Watch Video Solution

https://dl.doubtnut.com/l/_WNo7gnzl9Dsq
https://dl.doubtnut.com/l/_UrBrPdwHyS0R


Watch Video Solution

198. The following values are calculated in respect   of

heights and weights of the students of a
section of class XI:
 

Height
 Weight
 Mean 162.6 cm
 52.36 kg
 Variance
 127.69cm2

23.1361 kg2
 Can we say that the weights show greater

variation than the heights?

Watch Video Solution

199. If the heights of 5 persons are 140 cm, 150cm,158cm, 152

cm and 161 cm respectively. Find the mean height.

Watch Video Solution

https://dl.doubtnut.com/l/_UrBrPdwHyS0R
https://dl.doubtnut.com/l/_TY993HhHpaig
https://dl.doubtnut.com/l/_AKXD6cBPiXDJ


200. The sum and sum of squares corresponding to length 

(in cm) and weight 
 (in gm) of 50 plant products are given

below :

Which is more varying, the length or weight?

Watch Video Solution

x

y

50

∑
i=1

xi = 212,
50

∑
i=1

x2
i = 902. 8,

50

∑
i=1

yi = 261,
50

∑
i=1

y2i = 1457. 6

201. Two plants A and B of a factory show following results

about the number
of workers and the wages paid to them.
  

Plant A
 Plant B
 No. of workers
 5000
 6000
 Average monthly

wages
Rs. 2500
Rs. 2500
Variance of distribution of wages
81

100
 In which plant A or B is there greater variability in

individual wages?

Watch Video Solution

https://dl.doubtnut.com/l/_YSIFWuzXC0c3
https://dl.doubtnut.com/l/_ZfclsFdKuMo4


Watch Video Solution

202. find the mean salary of 60 workers of a factory from the

given table

Watch Video Solution

203. The means and standard deviations of heights ans

weights of 50 students
 of a class are as follows:
   
 Weights

Heights
Mean
63.2 kg
63.2 inch
Standard deviation
5.6 kg
11.5

inch
Which shows more variability, heights or weights?

Watch Video Solution

https://dl.doubtnut.com/l/_ZfclsFdKuMo4
https://dl.doubtnut.com/l/_PikRUVTVPh5Y
https://dl.doubtnut.com/l/_Z2ThXA29eIwr


204. The means and standard deviations of heights ans

weights of 50 students of a class are as follows: Weights

Heights Mean 63.2 kg 63.2 inch Standard deviation 5.6 kg 11.5

inch Which shows more variability, heights or weights?

Watch Video Solution

205. Coefficient of variation of two distributions are 60%

and 70% and their
 standard deviations are 21 and 16

respectively. What are their arithmetic
means?

Watch Video Solution

https://dl.doubtnut.com/l/_vG9ANbUwqGpg
https://dl.doubtnut.com/l/_rYCBUzQIyTDl


206. Calculate coefficient of variation from the following

data:
 Income (in Rs.)
 1000-1700
 1700-2400
 2400-3100
 3100-

3800
3800-4500
4500-5200
No. o families
12
18
20
25
35
10

Watch Video Solution

207. An analysis of the weekly wages paid to workers in two

firms A and B,
 belonging to the same industry gives the

following results;
   
 Firm A
 Firm B
 No. of wages earners
 586

648
 Average weekly wages
 Rs. 2.
 Rs. 47.5
 Distribution of

wages
100
121
Which firm A or B   pays out
 larger amount as

weekly wages?
 Which firm A or B has greater variability in

individual wages?

Watch Video Solution

https://dl.doubtnut.com/l/_NXzZqjQwHVBg
https://dl.doubtnut.com/l/_JueXMuaEYy0k


208. An analysis of monthly wages paid to workers in two

firms A and B, belonging to the same industry, gives the

following results: Firm A Firm B No. of wage earners 586 648

Mean of monthly wages Rs 5253 Rs 5253 Variance of the

distribution of wages 100 121 (i) Which firm A or B pays

larger amount as monthly wages? (ii) Which firm, A or B,

shows greater variability in individual wages?

Watch Video Solution

209. The mean and standard deviation of marks obtained by

50 students of a
 class in there subjects, mathematics,

physics and chemistry are given below:
Subject
Mathematics

Physics
Chemistry
Mean
42
32
40.9
Standard Deviation
12
15

https://dl.doubtnut.com/l/_15UUm7A57hwX
https://dl.doubtnut.com/l/_DrA2DeRTwuSx


20
Which of the three subjects shows the highest variability

in marks and
which shows the  lowest?

Watch Video Solution

210. Find the coefficient of variation for the following data:

Size (in cms)
10-15
15-20
20-25
25-30
30-35
35-40
No. of items

2
8
20
35
20
15

Watch Video Solution

211. The variance of first n natural number is:

Watch Video Solution

https://dl.doubtnut.com/l/_DrA2DeRTwuSx
https://dl.doubtnut.com/l/_n8brXkHc1Rv6
https://dl.doubtnut.com/l/_HPCsDtSoTl9e


212. If the sum of the squares of deviations for 10

observations taken from
 their means is 2.5, then write the

value of standard deviation.

Watch Video Solution

213. If 
 are 
 values of a variable 


 are 
 values of variable 
 such that 


 then write 
 in terms

of 

Watch Video Solution

x1, x2, ,  xn n

X and y1, y2, ......, yn n Y

yi = axi + b, i = 1, 2, .... , n V ar (Y )

V ar(X)

https://dl.doubtnut.com/l/_31n6xSkZoTqn
https://dl.doubtnut.com/l/_2VUWbR6EavpE


214. In a series of 20 observations, 10 observation each equal

to  and each of the remaining half is equal to . If the

standard deviation of the observations is 2, then write the

value of .

Watch Video Solution

k −k

k

215. If each observation of a dist., whose variance is  , is

multiplied by , then the S.D. of the new observations is

Watch Video Solution

σ2

λ

216. If a variable 
 takes values of 
 with

frequencies 
 then variance of

X 0, 1, 2, .... n

  nC0,  
nC1,  

nC2, .... . ,  
nCn,

https://dl.doubtnut.com/l/_MiTqJ7ZRJlrE
https://dl.doubtnut.com/l/_lpkJrh8LUH1L
https://dl.doubtnut.com/l/_qkWBrtVpaWj2


distribution is

Watch Video Solution

https://dl.doubtnut.com/l/_qkWBrtVpaWj2

